Home Learning — Year 5 Christ Church

Week Beginning 18t January 2021

Monday Tuesday Wednesday Thursday Friday
Maths | Follow the lesson called ‘Divide 2 digits Follow the lesson called Follow the lesson called Follow the lesson called ‘Divide with Follow the lesson called ‘Interpret
by 1 digit (2)’ ‘Divide 3 digits by 1 digit’ ‘Divide 4 digits by 1 digit’ remainders’ Charts’
https://whiterosemaths.com/homele | https://whiterosemaths.com/homele | https://whiterosemaths.com/homele | https://whiterosemaths.com/homele https://whiterosemaths.com/homele
arning/year-5/spring-week-3-number- | arning/year-5/spring-week-3-number- | arning/year-5/spring-week-3-number- | arning/year-5/spring-week-3-number- arning/year-5/week-6-statistics/
multiplication-and-division/ multiplication-and-division/ multiplication-and-division/ multiplication-and-division/ Follow up activity below
Follow up activity below Follow up activity below Follow up activity below Follow up activity below
» Remember:
<8 “ | 2x, 5x, 10x - Bronze 3x, 4x, 8x - Silver 6x, 7x, 9%, 11x, 12x - Gold https://www.timestables.co.uk/ https://ttrockstars.com/

English | Watch Y5 English Lesson 1 on the Watch Y5 English Lesson 2 on the Watch Y5 English Lesson 3 on the Watch Y5 English Lesson 4 on the Watch Y5 English Lesson 5 on the
school website: school website: school website: school website: school website:
https://www.ccht.rbkc.sch.uk/learnin | https://www.ccht.rbkc.sch.uk/learni | https://www.ccht.rbkc.sch.uk/learning | https://www.ccht.rbkc.sch.uk/learnin | https://www.ccht.rbkc.sch.uk/learnin
g-at-home/year-5-learning/ ng-at-home/year-5-learning/ -at-home/year-5-learning/ g-at-home/year-5-learning/ g-at-home/year-5-learning/
or access the lesson live on zoom or access the lesson live on zoom or access the lesson live on zoom or access the lesson live on zoom or access the lesson live on zoom
following the invitation which has following the invitation which has following the invitation which has been | following the invitation which has following the invitation which has
been sent to you. been sent to you. sent to you. been sent to you been sent to you.

Follow up activity and supporting Follow up activity and supporting Follow up activity and supporting Follow up activity and supporting Follow up activity and supporting
resources below resources below resources below resources below resources below
SPAG | Weekly SPAG lesson can be found on the website and follow up resource is below
Other RE History Science Spanish Geography
Subjects Parables of Jesus So far you've have learned about the What is a thermal insulator and Watch the Spanish video on the How do biomes vary?

After his Baptism, and then the 40
days he spent in the desert, Jesus
began to gather together his disciples
or special friends. Over the next
three years, Jesus travelled from
place to place performing miracles
and telling stories, or parables, with
important messages about how
people should live their lives.

Over the next few weeks, we will
learn about some of the parables that
Jesus told.

One of the best known parables is
The Good Samaritan. Watch the
video and read the Bible text and
notes below, then answer the
questions.

plight of Victorian children in the

workhouse or as child labourers for

example as chimney sweeps. Life was very
hard in this times.

This week, you are going to listen to the

story of Emily, who had an altogether

different experience of growing up in

Victoriean times.

Click on this link to listen to some of her

stories. You can listen to one or two or all

the episodes available. If you find it easier
you can also click on the written
transcripts.

e Emily comes from a wealthy family but
her life is still very different from a child
growing up in the 21 century.

e Asyou listen, make a mind map of all
the things in her life that are different
to your own. Remember, you can pause
or replay the audio if need be. Be as
creative in your recording as you wish.

® Emily also gives you some very personal
opinions about how she feels about lher
life — especialy about how she is treated
because she is a girl!

conductor?

e Draw a picture of the particles as
they would be in ice, steam and
water.

® Revise how particles change watch
this lesson here.

® Look at the graph and picture of
cups in Resource 1 session 3 Which
cup kept the tea warmest for longest?
Which material might the cup be
made of? Explain your thinking.

o Design a test: Teachers need to
keep the tea in their mugs warm for
longer. What would work best? What
material would and would not be
effective for this job? You must:

- describe your method,

- what you would need,

- what you would do,

- how you would record,

- what you would measure

How you could you be sure it was
accurate?

school website and be ready to take
notes and play a game with Miss Aina,
so get pen and paper!

o Click on this link (it may take a little
while to load) to learn about different
biomes in the Biome Viewer by
turning the globe and selecting the
coloured box to explain the
conditions.

e Find and investigate the following
places (use the search tool in the
Biome Viewer):

- United Kingdom;

- Manaus in Brazil;

- Gobi in China / Mongolia;

- Nunavut in Canada;

- Livingstone in Zambia.

Write a paragraph about each.
Present your learning however you
choose (mind map, information
report, psoter....)

Use the table below to compare
similarities and differences between
the 5 main biomes.



https://whiterosemaths.com/homelearning/year-5/spring-week-3-number-multiplication-and-division/
https://whiterosemaths.com/homelearning/year-5/spring-week-3-number-multiplication-and-division/
https://whiterosemaths.com/homelearning/year-5/spring-week-3-number-multiplication-and-division/
https://whiterosemaths.com/homelearning/year-5/spring-week-3-number-multiplication-and-division/
https://whiterosemaths.com/homelearning/year-5/spring-week-3-number-multiplication-and-division/
https://whiterosemaths.com/homelearning/year-5/spring-week-3-number-multiplication-and-division/
https://whiterosemaths.com/homelearning/year-5/spring-week-3-number-multiplication-and-division/
https://whiterosemaths.com/homelearning/year-5/spring-week-3-number-multiplication-and-division/
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https://whiterosemaths.com/homelearning/year-5/spring-week-3-number-multiplication-and-division/
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https://whiterosemaths.com/homelearning/year-5/spring-week-3-number-multiplication-and-division/
https://whiterosemaths.com/homelearning/year-5/spring-week-3-number-multiplication-and-division/
https://whiterosemaths.com/homelearning/year-5/week-6-statistics/
https://whiterosemaths.com/homelearning/year-5/week-6-statistics/
https://www.timestables.co.uk/
https://ttrockstars.com/
https://www.ccht.rbkc.sch.uk/learning-at-home/year-5-learning/
https://www.ccht.rbkc.sch.uk/learning-at-home/year-5-learning/
https://www.ccht.rbkc.sch.uk/learning-at-home/year-5-learning/
https://www.ccht.rbkc.sch.uk/learning-at-home/year-5-learning/
https://www.ccht.rbkc.sch.uk/learning-at-home/year-5-learning/
https://www.ccht.rbkc.sch.uk/learning-at-home/year-5-learning/
https://www.ccht.rbkc.sch.uk/learning-at-home/year-5-learning/
https://www.ccht.rbkc.sch.uk/learning-at-home/year-5-learning/
https://www.ccht.rbkc.sch.uk/learning-at-home/year-5-learning/
https://www.ccht.rbkc.sch.uk/learning-at-home/year-5-learning/
https://www.bbc.co.uk/teach/school-radio/history-victorians-life-in-a-wealthy-victorian-family/z4bbscw
https://classroom.thenational.academy/lessons/what-happens-when-you-heat-or-cool-each-state-of-matter-68w3at?step=2&activity=video
https://media.hhmi.org/biointeractive/biomeviewer_web/index.html

What is a thermal insulator and
conductor? What affect will a coat
have on a human and an ice man?

e Look at the cartoon in Resource
session 4. Who is right? Explain your
thinking,

o Watch this clip about insulators and
conductors.

o Take the quiz at the bottom of this
website to test your knowledge of
insulators and conductors.

o If we built two snowmen next to
each other and put a winter’s coat on
one of them, which snowman would
melt first? Make a prediction to an
adult in your house, explaining the
scientific reasons for your prediction.
e Look at the list of examples —
Resource Session 4

e Draw and explain 5 different
examples of thermal insulators and
conductors in your home or life
experiences.

o Deepening: Visit this website and
ask an adult if you are able to conduct
the experiment described using ice
cubes and materials from your home



https://www.bbc.co.uk/bitesize/topics/z2882hv/articles/zxv482p
https://www.bbc.co.uk/bitesize/topics/z2882hv/articles/zxv482p
https://frugalfun4boys.com/ice-melting-science-experiment/

Monday Maths:

Divide 2-digits by 1-digit (2)

o Whitmey is working out 49 + 4 using o ploce value chart.

Tens

A
QO |00
© |00
o oo ©
© |00

a) Tolk obout Whitney's method with a partner.
b) Why is there one counter left over?

¢} Complete the division.

49 + 4=

d) Use ploce volue counters to complete the divisions.

50+ 4= 51:d=

What do you notice?

o Complete the divisions.

a) 47 =3 =

b) 26 = 5=

d83:a=

d)32:5=

o Complete the divisions.

a) 36=4=

37+ 4=

@ 3@+ d=
I3+ 4=

a0 + 4 =

b) 70+ 5=

T1+5=

Q 72:5=
73+65=

@ 74:5=

e} 43 x 6 =

fl a7 -4=

g) T4 3=

h) B1=7=

=]
(=]
e
-
1}

5
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o Dora hos been working out some divisions.

72+ 4 =18
73 + 4 =18 rl
74 + 4= 1812
75+ &4 = 1813

I know without
wnrh'mg it put that 76 + 4
must be 18 r&

a) Why does Dora think this?

b} Explain why Dora is wrong.

o Eggs come in boxes of &
Annie haos 75 eggs.
She wants to know how many boxes she can fill.

a) Complete the division to work it out.

= = r

b} Whaot does the remainder represent?
Talk about it with o partner.

¢) Complete the sentence.

Annie can fill boxes with eggs left over.

o Jack has these bulbs.

W Daffodils 49
\’, Tulips 63

’ Crocuses 98

Equal numbers of eoch bulb are put into 4 tubs.

How many of each bulb will be in each tub?

Doffodils Tulips Crocuses

How many of eoch bulb will be left over?

Datfodils Tulips Crocuses

How maony tubs could Jock use so that there are no bulbs

left over?




Tuesday Maths:

Divide 3-digits by 1-digit

o Jack is working out 844 = 4 using a ploce value chart.
T W
0|0
o0 | O
o0 | O
e | O

a) Talk about Jock's method with o portner.

b) Complete the division.

B44 = 4 =

o Use Jack's method to work out these divisions.

a) 525+5= ) 840 8 =

b) 636 = 6 = d) 9033 =

I

®

<

o Eva is working out 844 = 4 using o part-whole model.

Complete Eva's method. 244 + 4 =

o A ball of string is 848 cm long.
It is cut into 4 equal pieces.

What is the length of one piece of string?

o Whitney is using flexible partitioning to divide o 3-digit number.

Could Whitney have partitioned her number another woy?

B Witdie Ao otk 20 H

<




Use Whitney’s method to work out these divisions. @ o Eva has a piece of ribbon. PO

a) 585 =+ 5= ) 648 = 4 = The ribbon measures 839 cm long.

How much ribbon would be left over if she cuts it into:

b) 672 - 6= d) 847 =7 = a) 4 equal pieces

b} & equal pieces
o Complete the part-whole models and divisions.

¢} 8 equal pieces

Can Eva cut the ribbon into equal pieces
with no ribbon left over?

Explain your answer.

68 =d= 9+ 4= o Use 15 counters and a place value chart.
What is the same and what is different obout the calculotions? a) Con you maoke o number that is divisible by 37
Talk about it with o partner. @ b} Can you make a number that haos o remainder

of 1 when divided by 37

¢} Con you make a number that has a remainder

of 2 when divided by 37

o Complete the divisions.
What do you notice? Talk about your findings with a partner.

"
)
“
)
®

a) 258 = 6= ¢} 864 = 4

b) 823 5= d) 824 = 3




Wednesday

Divide 4-digits by 1-digit

o a) Circle the groups of 3 to help you complete the sentences

and calculation.

The first step has been done for youw.

©9|00(00(00
o @00

There is| 1 [group of 3 thousonds.

There are

e

groups of 3 hundreds.

There is group of 3 tens.

There are |

groups of 3 ones.

3936 +3=

b} Use the place walue chart to work out 8,404 = 4

Th H

T

418 |4

404 + 4=

L)
¥

o Use the ploce value charts to work out the divisions.

o) 8,532+2=

0/0/18)

o
b

Q9

b) 5296 = 4 =

€)

e

6078 = 6=

Th

5/2|9 6

6|07 B

i@ White e Kioita X1 T

@



o Complete the divisions. 120 I 120 120 I 120 c=

I:II!II.' l.‘ll:li:

a) | d

b) | &) @) Find the missing digits. @

a) ' T T T 7 k)
aflz|7]3]s 3(ale|s|3 ‘z'zl 11 3| 6| |
BEeaR | |6/s] [a
g | f
416 |5 2|4 112 T8
o Books are availoble to buy in three different deals. @
Could you hove cokculoted the answer to part ) more efficiently? @ Deal A Deal B Deal C
o Work out the values of a, b and ¢ Q
9,415 -
"= £12.99 £38.16 £25 60
a|a|a|u|u|u|u

‘Which is the best deal?

Show your workings

blo|ofe|aflbe]s]s
5.328

0 '‘Whie o Motta X H




Thursday

White

b) Use ploce value counters to work out 8,407 + 4

Divide with remainders

L B L L[]

418 4|0 7

a) Circle the groups of 3 to help complete the sentences @

and calculation. 8,407 = 4 = remainder

The first step has been done for you.

Th H

T
000|000 1 o
— a) Complete the divisions.
gg O gg T ? | 3/91318 Use ploce value counters to help you.

Q0 Q0
©
3|75 9 5 418 5 6|7

There is| 1 |group of 3 thousonds.
There are groups of 3 hundreds.
There is group of 3 tens.
There are groups of 3 ones. 5|16 /5 & 2 :3|3_9I3 5
There are ones left ower. | |
3838 :3= remainder b) ‘Write <, = or = to complete the stotements.

6,562 + 5 3,935+ 3

7585+ 3 O 8567 = 4

0 ‘White Rone Woiha NH

@



o Write the caloulations in the correct column of the toble.

5,066 = 4 45134 1,234 + 4

6,562 = 4 6583 x4 9515 =4

Remainder of 1 | Remainder of 2 | Remainder of 3 | Remainder of 4

Are any columns empty? Talk to o partner about why this @
hios hoppened.
o 7,818 7861 6,781 1,786

| know that if [ divide
these numbers by 5 the
remainder will be 1

Is Eva correct?

How do you know? @

@ There are 458 children in a school.
They are sitting ot tobles in groups of 7

We will need
&5 tables.

Do you ogree with Mo?

Exploin your answer.

o Bogs of crisps are put into multipocks of &
The multipocks are then pocked into boxes of B
Yesterdoy, 6,500 bogs of crisps were pocked.

How many boxes of crisps were packed?

a) How mony ways con youw complete the colculation using all the
digit cords so that there is o remainder of 17

b} ‘Whaot do you notice?

o Dora is thinking of o number between 500 and a0
‘When she divides it by o 1-digit number it hos a remaoinder of 4
‘What could Dora’s number be?

@ Whee ke Boita XH

@ ©

OO0 O



Friday

Interpret charts

o The pictogram shows the number of ice creams sold in o shop.

lce cream flovour Mumber of ice creams sold

i | QOO0

e | GQPP99F

e | Q&

mint choc

Key Q = 2 ice creams

a) How many vanilla ice creams were sold?

b)

The shop sold

& chocolate ice creams.

What mistoke hos Annie made?

¢) How many chocolate ice creams were sold?

d) How many strowberry ice creams were sold?

e} Sewen mint choc ice creams were sold.
Complete the pictogram to show this.

o The bar chart shows the number of children who went

on holidoy to some different countries.

L= L
PR

number of children
o

Spain  France  USA LK Ity
country visited

a) Complete the toble using the information in the bar chart.

Country Mumber of children visiting

Spain

France

US5A

LIk

Haly

b) Complete the pictegraom using the information in the
bar chart.

Country Number of children visiting

Spain

France

LsA

UK

taly
Key . = 4 children

B Wit Ao Wiomhe 3020

N



o Four closses of children were asked what their fovourite @
animals are. Match the tobles to the charts.

Class A 104
dog 81
t &
- - - iod
il i il 44
£l 5 = rabbit 1
g g 2 —
E ] E snoke 12 o ™ —— i
g cat it inoke
e Al s
5] | H i Bl ira
calour oolour colour
Which chart best represents the picture? B Class B dog ..
Talk to a partner about the reasons for your choice. @ dog 4 cat I
o | oo [P
o Use the clues to label the bar chart. @ rabbit 3 cnake r
# The number of Huddersfield Town supporters is half the snoke i

Ke = 4 child
number of Halifox Town supporters. 4 . chitaren

# More people support Halifax Town than support any

other team. s € 104
* More people support Manchester United than Leeds United. dog 4
# There is 1 less supporter of Bradford City thon Holifox Town. — » g
[ Erodford City ] [Huddersfield Town } ( Halifax Town ] rabhbit 6
- ) k 8 — L 11 —L
[ Leeds United J (Munche.‘ter UI'II‘tEd] i o deg ot rabbit smake
9
i g .
£ )
2 . 1 Class D dog
= G-
2 5. dog 8 cat
; N cat | 2 rabbit
bbit 7
E 2 = snake
z 1- snake 3
a Key . = 4 children

football team




Answers

Divide 2-digits by 1-digit (2)

° Whitney is working out 49 + 4 using a place value chart.

00
©_ 100

00
o0

a) Talk about Whitney's method with a partner.
b) Why is there one counter left ower?

Ik 5 o repounde

¢} Complete the division.

d) Use ploce value counters to complete the divisions.

What do you notice?

<

®
®

o Complete the divisions.

by26+5=| 5 |
o 83:+4={00r |

dy32:5=| L~D

Complete the divisions.

a) 3s+4=
39:a=| qc3
aw=a=[ |

b) 70+ 5 = |
T=5=] el
72:25=| (url

73:5=| |40

T4:5=| (Ll

EIH+E=
farea=[ 1170
a) ?4+3=m

h8=7=||lr

aes-[ T
oes-[ic ]
g1+4=m
o0-a=[70,7 |
o[ 21 ]

B Wihite Rose lohe 20T

@ O



b) What does the remainder represent? @

o Dora hos been working out some divisions.
Talk about it with o partner.

72 + 4= 18 ¢} Complete the sentence.

73 +4=18r1 Anniemnfillh-mswitheggsleﬂmer.
74 + 4= 1812

75 + 4= 18r3

o lock has these bulbs. @

W Daffedils 49

a) Why does Dora think this? % Tulips &3

I know without
working it out that 76 + 4
must be 18 r&

’ Crocuses 98

b in why Dora i .
) Explain why Dora is wrong Equal numbers of each bulb are put into 4 tubs.

Mou  cont howe o temgunder o U How many of each bulb will be in each tub?
whan  diiddes by U
0 J

Daffodils Tulips Crocuses

How many of each bulb will be left over?
o Egos come in boxes of &

Annie has 75 eggs.

She wants to know how many boxes she can fill. Daffodils IIl Tulips Crocuses

a) Complete the division to work it out.
How many tubs could Jack use so thaot there are no bulbs

135]-[ 6 |=|*1|’ left over?




o Jack is working out 844 = 4 using o place value chart. g
0| O
0| O
0| O
0[O It is cut into 4 | pi

0) Talk about Jock’s method with a partner. @ What is the length of one piece of string?
b) Complete the division.

e o-[217]

o Whitney is using flexible partiticning to divide o 3-digit number.

o Use Jack's method to work out these divisions. Q @

h1535+5= d}Eﬂ3+3= @ o o
+ &4 + 4 + 4

200 10 4
Could Whitney have portitioned her number another waoy? @

& Wihiie Ao Wonhe 2018

o Evao is working out 844 = 4 using a part-whole model.

+ 4 + 4 + 4

100 1O |

Complete Eva's method. 244 £ 4 =

Divide 3-digits by 1-digit

o A ball of string is 848 cm long.




Use Whitrey's method to work out these divisions. @ o Eva has o piece of ribbon.

a) 585 = 5= o) 643+4= The ribbon measures 839 cm long.

How much ribbon would be left over if she cuts it into:

h}E?Z:—E: d]IM?+?= a) 4 equal pieces

/

b) & equal pieces
o Complete the part-whole models and divisions.

n Ly
8 g

<) 8 equal pieces

Fem

Can Eva cut the ribbon into equal pieces
with no ribbon left over?

Explain your answer. 239 peces tach | em Lu...& @

F

168 +4 = 169+ 4= o Use 15 counters and a ploce value chart.

What is the same and what is different about the colculations? a) Con you make o number that is divisible by 37 -Hﬂ_
Talk about it with a partner. @ b) Can you moke o number that has a remainder Q
of 1 when divided by 37 T
¢} Can you make a number that has o remainder
of 2 when divided by 37 —
o Complete the divisions.
Whaot do you notice? Talk about your findings with a partner. @




Divide 4-digits by 1-digit il o Use the ploce value charts to work out the divisions.

/ o ass2e2= 0,200 |
IE: LId|6l&
\2.6 , 8532

ee
©8/66/0—00)

o a) Circle the groups of 3 to help you complete the sentences
and calcubation.

The first step has been done for you.

13 [1 [2

3[3 9 36

There is m group of 3 thousands.

Th H T | |
There are groups of 3 hundreds. HERR] E|:
als'z/9's
There is m group of 3 tens. 1 1 1 |
There are groups of 3 ones.

3936+3=(), 312
b} Use the place volue chart to work out 8404 = 4 g 9 E,ﬂ?E:—ﬁ:

Th H T Th H T

50|00 60 211 o]
oolloo loe)| | _n|314 n|a

fo) 1|

11Of1]3

il ‘ihite Rowe kioita 20T

@



Complete the divisions. 120 | 120 120 | 120 c=
O o (80 |

al | o) l.‘IﬂIi.' #Iﬂlf

b) | &) ' ©) Find the missing digits @

030y LIS g1 a) T 1 b)
s|2F7[3Fs 3lafsls[3] | ‘z'zlff | '3]'2_5_2
nEaean |2|6 s|2]a
o) fl
Le 3] 2161709
alels|z|a 1|2z|0|7|9

o Books are available to buy in three different deals. @

Could you hove cokculoted the answer to part f) more efficiently? @ Deal A Deal B Deal C

o Work out the values of a, b ond ¢. Q - - -
£12.99

=

ﬂ|ﬂ|ﬂ|ﬂ|ﬂ|ﬂ|ﬂ

£38.16 £25.60

Which is the best deal? Dear £

Show your workings.

blo|bo]s|o|s]b]s &=

5.328

0 Whize Rma Wlotta 30T




- . - | ; b) Use ploce value counters to work out 8,407 + 4 |
Divide with remainders o Q

Th H T

o @ .’aiCI';.«S
o g)lleo o 4|8 a4 0 7
00 ag| |
o0 o

o a) Circle the groups of 3 to help complete the sentences @

and caleulation.

BA0T =4 = remainder

The first step has been done for you.

1 112
3|3 T r o a) Complete the divisions. Q
Use ploce value counters to help you.
2(5/3| 12 2111513
3|7's 9 5 ala s 's |7
There is II' group of 3 thousands.
There ore groups of 3 hundreds.
ThereismgmupafEtens. | 3 \ 2_1 10NN
e | L
1
Thereuregmupsnfinnes. 5|8 5.5_12_ 3|3-g13 5

There nrennulef'tmrer.
Write <, =1 lete the stotements.
3938+3=| | 300 remuim:ler b) Write <, = or = to compl en

7,585+ 3 8567 - 4

6,562 + 5 38935+=3

9O

@ 'White Rone Woita 3T



o Wirita the caleulations in the cormrect column of the table. o Thers are 458 children in a schoal. @

They are sitting ot tables in groups of 7
5086 + 4 95134 1,234 + 4
We will need
65 tables.
6,562 + 4 6,563 + 4 9515 =4

Do you ogree with Mo? i
Explain your answer. g

o Bogs of crisps are put intoe multipocks of &

Remainder of 1 | Remainder of 2 | Rermainder of 3 | Remainder of 4
- - The multipocks are then pocked into boxes of 8
Q518 4 506E> §5e3 = 4y . pﬂ_
6502 21 9,515 Yesterdoy, 6,500 bags of crisps were pocked.
LA, 41y How many boxes of crisps were packed?
135
Are any columns empty? Talk to o partner about wiy this @ o
hos hoppened. 2 3 4 5
° 7,816 7,861 6,781 1,786 a) How mony ways con yow complete the cokculation wsing all the

digit cords so that there is a remainder of 17
E‘E 3950 = B )

I know that if I divide
these numbers by 5 the
remainder will be 1

b} Whaot do you motice?

o Dora is thinking of a number between 500 and 600
‘When she divides it by a 1-digit number it hos a remainder of 4
Is Bva comrect? _ €D ‘What could Dora’s number be?

How do you know? @
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She has counted the nurmber of pictures of ice creams an the pictagranm, but sach
picture represents 2 oe creams.
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English Resource

Paragraph 1

Paragraph 2

Paragraph 3




Science

Session 3

Resource 1
Which cup do you think s A, B or C In the picture?
Which cup ke » vwarre doink the wame et B Pw lorgest tme?

60

9

o B

15
0 H 10 4 20

Tese Imnde )

Cups R Us




Session 4
Who do you think is right? Why?

I think it will keep
him cold and stop

Don’t put the coat nim mdntm
on the snowWmMman
« 1t vl mn‘m

Examples of thermal insulators and conductors at home

e Aradiator s 0 good exampée of conduction. Anything placed on the radiator, ke
an aricie of clioming. wik become wam

« Hot foocd will heat o stoneware or parceiain piate for a fime

e .If you are cold and someocna holds you o warm you. the heat is being conducted
from thesr body 10 yours.

o Heat wil ranster from a hot bumear on the stove INto o pot or pan.

« A meial spoon baecomes hot rom the bolding water inside e potl.

« Choccdiate in your hand wil eventually meit as heat 5 conducted from your hand 1o
the chocolatea.

« If you touch a hot stove, heat wil be conducted 1o your finger and your skin will bumn.

e Sand can conduct heat. Walking on the beach on a hot summer day wil warm you
feat.

o Light butts gve off heaot ond it you touch one that & on, your hand will get burned.



eography

session 2: use this table to compare the locations and their biomes

Locaofion | Biome | Climate | Maximum Minimum | Maximum | Whod What
flone Temperalure | Tempenalure | Raindall bvpes | types of
ol frees | animols
I planis: ang
are found?
found?

LIE

honioe,
Broal

Gaobl,
Chima |/

Moo

Huriowut in
_andados

Uviregstone
in Zarmisic




RE: The Parables of Jesus — The Good Samaritan

Watch the video https://www.youtube.com/watch/53Pqw20xK10 and read the story in the Bible: Luke 10: 25-37

Read the notes below and then answer the questions:
Jesus is asked a question “Who is my neighbour?” — that is, whom am | responsible for? He does not give a direct answer — he tells a story. The
journey from Jerusalem to Jericho was a dangerous one in his day. It is 17 miles long and descends 3,300 feet. Perhaps the story Jesus tells is
based on something that actually happened — or perhaps he is referring to the current fear that if you went down this road, then you were quite
likely to get attacked and robbed.
The man who was attacked was left for dead. The priest first walks by on the other side... There might be two reasons for this: 1.He might have
been afraid that this might be a trap and he could get attacked. Or 2. He might have been worried that the man was dead and that he would
become unclean by touching the man. Or there is a third possibility — he was just too busy to stop. The second man to come by was a Levite, who
again might not have wanted to touch something he regarded as unclean.
Finally, a Samaritan turns up. Now Jews saw Samaritans as their enemies, likely to want to trick them. Perhaps Jesus’ audience might have
thought that the man who had been attacked would be murdered by this third person. Not a bit of it — this man deals with the man’s wounds, takes
him to a safe place and agrees to pay his upkeep at the inn.

1. What do you think the hidden meaning in the story is?

Parables were stories with a hidden meaning that Jesus told to make a point. The end of the story shows Jesus explaining the meaning of the
story. Read it below.

‘What do you think?’ Jesus asked. ‘Which of the three was a neighbour to the man attacked by robbers?’ ‘The one who treated him kindly,” the
man replied. Jesus said, ‘Go and do the same.’

After you have read the end of the story answer these questions:
2. Why do you think Jesus told this story?
3. How might people have been behaving for Jesus to need to tell this story?
4. What did Jesus mean when he said: ‘Go and do the same’?

5. Draw achart or mind map, or make a list, of the qualities you need to be a true friend to someone.


https://www.youtube.com/watch/53Pqw20xK10
http://www.biblegateway.com/passage/?search=luke%2010:25-37&version=NIV

SPAG

COMMAS

We use commas:

. To separate items in a list

. To separate extra information embedded in the middle of a sentence, instead of dashes or
brackets

. To separate clauses joined by FANBOYS (for, and, nor, but, or, yet, so)

. To punctuate direct speech

. After extra information is added at the start of a sentence (a fronted adverbial or a subordinate
clause)

. To separate the name or title of someone who is being directly addressed

. To separate a question from a statement

. To make sentences easier to read and the meaning clear

Time to eat, children. Time to eat children.




Repair the sentences by putting commas in the correct places.

1. The wrapping paper had blue white red and yellow stripes. (Hint: 2 commas)

2. The Shard the tallest building in Britain is located in London. (Hint: 2 commas)

3. The candle was burning brightly but | could see it was about to go out. (Hint: 1 comma)
4. Thomas smiled warmly and said “Good afternoon”. (Hint: 1 comma)

5. Dramatically the song finished with a bang. (Hint: 1 comma)

Extension: Complete the following tasks: (pon't forget the commas!)

6. Write a list of five things you would need to camp out for the night. Write your list as
a sentence.

7. Add some extra information to this sentence using an embedded clause. (Hint: Add some
information about Laura.)

Laura walked to school.

8. Finish this sentence:

Skye frowned and said



